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Run 4568 mpswise, acc0: All

Entries: 1210100

Mean: 8.6728 +/- 0.0021

Std Dev: 2.3172 +/- 0.0015

Run 4568 mpswise, acc0: All
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Run 4568 mpswise, acc0: Beam OFF

Entries: 17435

Mean: 0.6393 +/- 0.0049

Std Dev: 0.6529 +/- 0.0035

Run 4568 mpswise, acc0: Beam OFF
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Run 4568 mpswise, acc0: Beam ON, Laser ON

Helicity==0

Helicity==1

Entries: 235707

Mean: 11.1772 +/- 0.0016

Std Dev: 0.7799 +/- 0.0011

Entries: 235709

Mean: 11.2139 +/- 0.0016

Std Dev: 0.7822 +/- 0.0011

Run 4568 mpswise, acc0: Beam ON, Laser ON
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Run 4568 mpswise, acc0: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 353504

Mean: 7.2458 +/- 0.0012

Std Dev: 0.6970 +/- 0.0008

Entries: 353408

Mean: 7.2828 +/- 0.0012

Std Dev: 0.6975 +/- 0.0008

Run 4568 mpswise, acc0: Beam ON, Laser OFF
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